7\
AY4
n
1]
=
un
L

4.1

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

5101210097 HANSADESIGNO - Kiichenarmatur

EAN: 4015474005471

statichansa.com/5101210097

Ersatzteile
SP51012101
Name Art.-Nr.

1 Hebel, 60 mm Chrom 59911882
1 Hebel, L=60 Blau 59912148
1 Hebel, 80 mm Chrom 59912122
11 Schraube, M5x8, SW2.5 59904755
12 Kunststoffadapter 59904778
14 0-Ring, d 6x1 59912136
15 Abdeckkappe Chrom 59911885
2 Abdeckkappe Chrom 59906563
22 Befestigungshiilse 59906695
3 Ringschraube, M50x1, SW45 59904775
4 Kartusche, 4.8 eco 59904601
41 Warmwasser Begrenzer 59904759
53 Dichtung, 37x48x3.5 59911422
5.4 Befestigungsklammer 59911416
55 Befestigungsplatte 59904765
5.6 Schraube, M8x1, SW13 59904766
57 Befestigungssatz 59910749
58 Rohr, d 10 mm, L=413 59911423
59 0-Ring, 9x2 59905095
510 AnschluBschlauch, L=430, G3/8-M10x1 59912515
5.10 AnschluBschlauch, L=370, G3/8 59911626
51 PVC-Befestigungsplatte 59910008
6 Auslauf Chrom 59911881
6.1 Luftsprudler, M22/24 A 59902081
6.3 Luftsprudler und Schliissel, M24x1, (2002-) Chrom 59912225
63 Luftsprudler, M24x1, (-2002) Chrom 59912011
6.4 Dichtungskit 59911884
6.5 Schraube, M4x7 59902075
NI Schliissel fiir Luftsprudler, (2002-) 59912228

1


https://static.hansa.com/5101210097

